SAITO J)\—WY 2022¢F4H18&D
mRI— R T FEEBR | SmIEBUA | 2wk | IDMmEEk | IDMmEELA
3402100 7997k 100 110 50 50 55
3402101 7977° h(100/EA) 8,000 8,800 | 3,500 | 4,500 4,950
3402102 UZ99GM°-) 70 77 10 60 66
3402103 FEZI9)(M" —) 70 77 10 60 66
3402104 UZ299(7" 397) 80 88 10 70 77
3402105 F=99(7° 397) 80 88 10 70 77
3402106 IR 1,430 1,573 130 1,300 1,430
3402107 —RFEE 2,000 2,200 350 1,650 1,815
3402108 Y- NRER 2,500 2,750 500 2,000 2,200
3402109 VSEER 3,850 4,235 350 3,500 3,850
3402110 MSW, MSKFI &t 4,950 5,445 450 4,500 4,950
3402111 AT (90N 220 242 20 200 220
3402112 R Y (5 T I2MEAD) 440 484 40 400 440
3402116 L4 WE(M10x53) 660 726 60 600 660
3402117 IL-Li WH(M10x38) 500 550 50 450 495
3402118 V'S-4000F37L-Lik b 3,960 4,356 360 3,600 3,960
3402119 J7° i h(M8x16) 500 550 40 460 506
3402120 J7 i IN(M6x30) No.FE-5-1Esh%5" 500 550 40 460 506
3402121 J7 R M(M6x12) 220 242 20 200 220
3402122 AR T-I € (I M) 330 363 30 300 330
3402123 I -(ETH ) 330 363 30 300 330
3402125 £-5-n" h(No.F) 880 968 80 800 880
3402126 £-5-n" hF(M-45],M-55],VSF) 950 1,045 100 850 935
3402127 £-5-n" h(PSF) 1,100 1,210 100 1,000 1,100
3402128 ACPS" 7 5-(5-7° 33) 3,850 4,235 350 3,500 3,850
3402129 ACPS" 7° 5-(9—3412) 4,400 4,840 400 4,000 4,400
3402130 DCAIBIRI-I (15-7°33) 3,300 3,630 300 3,000 3,300
3402131 DCAIBEI-N (L-3112) 3,300 3,630 300 3,000 3,300
34021331 TS - (B YIRS ) 7,700 8,470 700 7,000 7,700
3402134 7°SAFY97° - 350 385 30 320 352
3402135 7137° -U-(3R) 1,650 1,815 150 1,500 1,650
3402136 7E7° -I-() 2,200 2,420 200 2,000 2,200
3402137 WN-IBOXADEH 440 484 40 400 440
3402138 |BE7YN0-WBOXFBt1-X" 220 242 20 200 220
3402139 ALY N-VBOXAL 1A 220 242 20 200 220
3402140 5 I -71hN(GA-25,105,1258) 990 1,089 90 900 990
3402141 5 I° -7 1hi(No. 150, 180FH) 2,200 2,420 200 2,000 2,200
3402142 5 JI°-7ThN(M-45],VS-220,330/) 3,300 3,630 300 3,000 3,300
3402143 5 )° 7 1hN(M-55J,VS-1500,3000F8) 4,400 4,840 400 4,000 4,400
3402144 5 I° 7N (VS-4000/8) 8,800 9,680 800 8,000 8,800
3402145 5 - - RI(M-45],VS-220,33068) 3,300 3,630 300 3,000 3,300
3402146 5 -LI K BI(M-45],VS-220,330) 3,300 3,630 300 3,000 3,300
3402147 5 I -V - SH(M-55],VS-1500,3000f8) 3,300 3,630 300 3,000 3,300
3402148 5 )° -LI & EAI(M-55,VS-1500,3000F8) 3,300 3,630 300 3,000 3,300
3402149 5 )° b1 - RI(VS-400078) 3,300 3,630 300 3,000 3,300
3402150 5 )° LI\ ~{EZRI(VS-400078) 3,300 3,630 300 3,000 3,300
3402151 5N 45 (RNEIb - 1T ) 260 286 20 240 264
3402152 51 =5 YNBSS mmAE) 330 363 30 300 330
3402153 5 =5 YUY Bl6mmAzE) 330 363 30 300 330

172



SAITO J)\—WY 2022¢F4H18&D
mRI— R T FEEBR | SmIEBUA | 2wk | IDMmEEk | IDMmEELA
3402154 5 I -22° Y97 (GA-25,No. 105, 125F) 1,100 1,210 100 1,000 1,100
3402155 5°° -3 U5 (No. 150, 180FH) 1,650 1,815 150 1,500 1,650
3402156 5N -22° Y97 (VS-220/8) 2,200 2,420 200 2,000 2,200
3402157 5 I° 37" Y50 (M-45],VS-3305) 2,200 2,420 200 2,000 2,200
3402158 59N -27° Y77 (M-55],VS-1500,3000F8) 2,200 2,420 200 2,000 2,200
3402159 5 I°=37° U9 (VS-4000F9) 3,080 3,388 280 2,800 3,080
3402161 50 ~Fy MBI THI(eh) 440 484 40 400 440
3402162 51 ~Fy NEBITIN(K) 880 968 80 800 880
3402164 5 -PhSFy(eh) 880 968 80 800 880
3402165 5 I TIEHNCK) 1,100 1,210 100 1,000 1,100
3402166 M8I" L7yt~ 160 176 10 150 165
3402167 M8}y | 220 242 20 200 220
3402168 EfEE 3,960 4,356 360 3,600 3,960
3402169 N5 N B 990 1,089 90 900 990
3402171 N5 W (GA-25,No. 105, 125F) 4,400 4,840 400 4,000 4,400
3402172 N5 AR (M-451,M-55],No. 150,VS-3000/8) 5,060 5,566 460 4,600 5,060
3402173 N5 341 (No.180,VS-220,330, 1500,4000F) 5,060 5,566 460 4,600 5,060
3402174 N5 R 5 Assy (A" 5 W) 550 605 50 500 550
3402175 N B IAR 35 Assy (U 5" 1) 550 605 50 500 550
3402176 N5 R 5" Assy(VS-3000/8) 1,320 1,452 120 1,200 1,320
3402177 5 9\ —#R(No. 105, 125F) 2,200 2,420 200 2,000 2,200
3402178 5" ) ~4%(No.150, 180F8) 2,860 3,146 260 2,600 2,860
3402179 5 I -#R(VS-220,330,1500,3000F8) 3,300 3,630 300 3,000 3,300
3402180 N5 I3 (M-451,M-551F) 9,900 | 10,890 | 900 9,000 9,900
3402181 5 JZ(F(No.105,125,150/8) 3,300 3,630 300 3,000 3,300
3402182 A5 1F(No. 180,VS-220,330/) 3,850 4,235 350 3,500 3,850
3402183 N5 &\ F(VS-1500,4000F) 4,400 4,840 400 4,000 4,400
3402184 N B VRFAER (FIMT ) 330 363 30 300 330
3402185 BEN S (GRE) 8,800 9,680 800 8,000 8,800
3402186 BN 5" )(M-451/M-55F8) 9,900 | 10,890 | 900 9,000 9,900
34021861 HN BN 5 W7 537 31,000 | 34,100 | Z®/2L| 31,000 | 34,100
3402187 UZA 5 LA 17,600 | 19,360 | 1,600 | 16,000 | 17,600
3402188 U5 1B 19,800 | 21,780 | 1,800 | 18,000 | 19,800
3402189 N B IR 330 363 30 300 330
3402190 N5 LET A 220 242 20 200 220
3402191 T Wy 110 121 10 100 110
3402192 HOI951-(M8) 110 121 10 100 110
3402193 A" %5" (M8X150) 1,100 1,210 100 1,000 1,100
3402194 RIS (D-48) 20 99 10 80 88
3402195 ZRIE 1S (SG-80,88F) 180 198 20 160 176
3402196 ZRIESH?S (SG-100, 120F8) 180 198 20 160 176
3402197 Iy -ABERS 990 1,089 90 900 990
3402267 D DyhyEARES BT A vy 70 77 10 60 66

By M

S cailof

2/2





